[sum(p )1 AnAAg)] [GeV]

Ratio to CMS

2.5

1.5

[EEY

0.5

2760 GeV pp.

Average Z(p ) vs p'T%‘d (|r]j|<2.0, hi<2.0, p >0.5)

m CMS
--G-- Herwig++ 2.7.1 default
--3-- Herwig 7.2.1 default
—— Pythia 8.308 default
--¥-- Pythia 8.308 vincia-default
----- ¢ Sherpa 2.2.9 default

Underlying Event

_____________________4
I

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.10, = 2.5M events

— . —2
- B = .
L - T PR N . —
,Q ,’Q" é). rh ,é’l // . N - ?
= /,QP’\\ X /I \\ \\ 1
s " oo .
: N I ! 05
— 3 LA - " — U.
4 R A Jo
:. ‘. 1 1 1 1 \l : .l: I\TL " 1 .'.. 1 : " 1 " |
0 50 100

P, (leading track-jet) [GeV]



	Contents
	Page 1


